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1163. Upnwhwyntip Yhingpwifubipny.
w)7Yq 344q, q)14q600g, W10975yq10q,
P 134g45q, n)4gil54g23q, q)188q:
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1094. lvwump tu plipt) 2 w junudp b 800 §q Jupniug: Unwghu opp
Juéwnly bu Junuiiph 40 %p b Juwpmugh 20 %p: O
pwuwntintiuhg bu wytkh jun Juwawnk) b pwufi wuquud jwn:
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1136. Lmodtip hunwuwpnuip.
w)2x +1=5, q)8x-1=7, W) 3+2x =18,
p)3x+1=5, n)4x-2-9, q)8=x+4
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1137. Gwitip 20-hg thnpp pnpnp qnyq pytph gnidwpp:
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139. dwlugotip wmbnunplip wyjuwyhu, np unwgyws wuhwwuwpni-
pyniup Ghow |huh.
w)18:2+4+11-3<18:2+4+11-3,
p)2-30+20-9+10-7>2-30+20-9+10-7:
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wt] wwwh vh mppuulmuwdh dwuop,
nph Jwjumpniup 6 U L, plupnipyniup’
9 U QwpjpGwuwihyp 15 ud  Ynnuny
punwyniuh b Lwuf hwuGuwuwhy Juywhwueyh:

1142, QwjuGwuwihjutipny whwp L ipiuwgw- ‘
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1160. Swntip 17-h puquwwwwnhy pnnp bpluhy pybpp:




